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The main difference between latches and �ip-�ops is that for latches, their outputs are constantly affected by their inputs

as long as the enable signal is asserted. Other Types of Flip-Flops Historically, other types of Flip-Flops have been

important, e.g., J-K Flip-Flops and T-Flip-Flops However, J-K FFs are a lot more complex to The major difference between

latches and �ip-�ops is that a latch veri?es the input constantly and alters the output based on the input change, whereas a

�ip-�op is a D Flip Flop (FF) If we connect two latches back to back, as shown, with the clock inversion between the first and

second, we obtain a flip-flop (FF). Flip-�ops, on the Flip-�op. A SR One latch or �ip-�op can store one bit of information.

Latches are transparent when enabled, whereas �ip–�ops are dependent on the transition of the clock signal is either

positive edge or negative edge SR Latch A SR latch is a memory element that can be used in an asynchronous sequential

circuit. The main difference between a latch and a �ip-�op is the triggering mechanism. In other words, when they are

enabled, their content changes immediately when their inputs change. A SR latch constructed from two NOR gates is shown

in Figure Because the output of one NOR gate serves as one of the two inputs to the other NOR gate, it is called a cross-

coupled A �ip-�op is designed to change its output at the edge of a controlling clock signal Latches vs Flip-Flops Latches

and �ip-�ops are both– bit binary data storage devices. A latch watches all of its inputs continuously and SR Latch A SR

latch is a memory element that can be used in an asynchronous sequential circuit. Similar to a �ip-�op, it can also store one

bit of information. Similar to a �ip-�op, it can also store one bit of information. LatchFlip-�op is a bistable device i.e., it has

two stable states that are represented asandLatch is also a bistable device whose states are also represented asandIt

checks the inputs but changes the output only at times de?ned by the clock signal or any other control signal Latches vs.

�ip-�ops Latches are �ip-�ops for which the timing of the output changes are not controlled. Sometimes the Latches and

Flip-Flops. For a latch, the output essentially responds immediately to changes on the input lines (and possibly the presence

of a clock pulse). �ip-�op samples its inputs and changes its inputs only at times determined by a clocking signal.
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